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Instructions 
· Use black ink or ball-point pen. 

· Fill in the boxes at the top of this page with your name,
centre number and candidate number. 

· Answer all questions. 

· Answer the questions in the spaces provided

– there may be more space than you need. 

· Calculators may be used.

· If your calculator does not have a π button, take the value of π to be 
3.142 unless the question instructs otherwise.

Information

· The total mark for this paper is 101.
· The marks for each question are shown in brackets
– use this as a guide as to how much time to spend on each question. 

· Questions labelled with an asterisk (*) are ones where the quality of your 
written communication will be assessed.

Advice

· Read each question carefully before you start to answer it. 

· Keep an eye on the time.

· Try to answer every question. 

· Check your answers if you have time at the end.

Suggested Grade Boundaries (for guidance only)

	A*
	A
	B
	C
	D

	81
	58
	38
	22
	10


GCSE Mathematics 1MA0

Formulae: Higher Tier

You must not write on this formulae page.

Anything you write on this formulae page will gain NO credit.

Volume of prism = area of cross section × length
Area of trapezium = 
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(a + b)h
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Volume of sphere 
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3

πr3 
Volume of cone 
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πr2h

Surface area of sphere = 4πr2 
Curved surface area of cone = πrl
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In any triangle ABC 
The Quadratic Equation



The solutions of ax2+ bx + c = 0



where a ≠ 0, are given by



x = 
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Sine Rule  
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Cosine Rule  a2 = b2+ c2– 2bc cos A

Area of triangle = 
[image: image11.wmf]1

2

ab sin C

Answer ALL questions.

Write your answers in the spaces provided.

You must write down all stages in your working.
1. 
(a)
Use your calculator to work out 
[image: image12.wmf]7056

0.3512.8

´

.

Write down all the figures on your calculator display.

You must give your answer as a decimal.
..........................................

(2)

(b) 
Write your answer to part (a) correct to 1 significant figure.
..........................................

(1)

(Total for Question 1 is 3 marks)

___________________________________________________________________________

2. 
(a)
[image: image13.emf]

Reflect shape P in the line y = x

(2)

(b)

[image: image14.emf]

Describe fully the single transformation that maps triangle A onto triangle B.


...............................................................................................................................................


...............................................................................................................................................
(2)

(Total for Question 2 is 4 marks)

___________________________________________________________________________
3. 
(a) 
Express 45 as a product of its prime factors.

..............................................................

(2)

(b) 
Find the Highest Common Factor (HCF) of 45 and 30

.............................

(2)

 (Total 4 marks)
___________________________________________________________________________
4. 
On the grid, draw the graph of y = 4x − 2
[image: image15.emf]
(Total 3 marks)
___________________________________________________________________________
5.

[image: image16.emf]
A, B and C are 3 service stations on a motorway.

AB = 25 miles

BC = 25 miles

Aysha drives along the motorway from A to C.

Aysha drives at an average speed of 50 mph from A to B.

She drives at an average speed of 60 mph from B to C.

Work out the difference in the time Aysha takes to drive from A to B and the time Aysha takes to drive from B to C.

Give your answer in minutes.

.............................................. minutes

(Total for Question 5 is 3 marks)

___________________________________________________________________________
6.

[image: image17.emf]
(i)
Write down the size of the angle marked a.

...................................°
(ii)
Give a reason for your answer.


...............................................................................................................................................

(2 marks)
___________________________________________________________________________
7. 
Bob has 120 beads.
The beads are either red or green.

Bob gives 
[image: image18.wmf]4

3

 of the beads to his friend.


[image: image19.wmf]3
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of the beads Bob now has are red.

Work out how many green beads Bob now has.

...........................

(Total 2 marks)
___________________________________________________________________________
8.
The frequency table gives information about the heights of some people.
	Height (h cm)
	Frequency

	160 < h ≤ 165
	2

	165 < h ≤ 170
	5

	170 < h ≤ 175
	10

	175 < h ≤ 180
	21

	180 < h ≤ 185
	16

	185 < h ≤ 190
	4


Draw a frequency polygon for this information.
[image: image20.emf]
 (Total 2 marks)
___________________________________________________________________________
9.

[image: image21.emf]
Describe fully the single transformation that maps triangle A onto triangle B.

.....................................................................................................................................................
......................................................................................................................................................
 (Total 3 marks)

___________________________________________________________________________
10. 
Caleb measured the heights of 30 plants.

The table gives some information about the heights, h cm, of the plants.
	Height (h cm) of plants
	Frequency
	
	

	00 < h ( 10
	2
	
	

	10 < h ( 20
	8
	
	

	20 < h ( 30
	9
	
	

	30 < h ( 40
	7
	
	

	40 < h ( 50
	4
	
	


Work out an estimate for the mean height of a plant.

............................... cm

(Total 4 marks)
___________________________________________________________________________
11.
Here is a plan of Martin’s driveway.
[image: image22.emf]
Martin is going to cover his driveway with gravel.

The gravel will be 6 cm deep.

Gravel is sold in bags.

There are 0.4 m3 of gravel in each bag.

Each bag of gravel costs £38.

Martin gets a discount of 30% off the cost of the gravel.

Work out the total amount of money Martin pays for the gravel.

£..........................................

(Total 5 marks)

___________________________________________________________________________
12.
On the grid, draw the graph of y = 2x – 3 for values of x from –2 to 3
[image: image23.emf]
(Total 4 marks)

___________________________________________________________________________
*13.
Axel and Lethna are driving along a motorway.

They see a road sign.

The road sign shows the distance to Junction 8

It also shows the average time drivers will take to get to Junction 8

	To Junction 8

30 miles

26 minutes


The speed limit on the motorway is 70 mph.

Lethna says,

‘We will have to drive faster than the speed limit to go 30 miles in 26 minutes.’

Is Lethna right?

You must show how you got your answer.

(Total 3 marks)


___________________________________________________________________________
14. 
PQR is a right-angled triangle.
[image: image24.emf]
PR = 8 cm.

QR = 12 cm.

(a)
Find the size of the angle marked x.


Give your answer correct to 1 decimal place.

......................... °

(3)

XYZ is a different right-angled triangle.
[image: image25.emf]
XY = 5 cm.

Angle Z = 32°.

(b)
Calculate the length YZ.


Give your answer correct to 3 significant figures.

..................... cm

(3)

(Total 6 marks)

___________________________________________________________________________
15.
The diagram shows the positions of three turbines A, B and C.
[image: image26.emf]
A is 6 km due north of turbine B.

C is 4.5 km due west of turbine B.

(a)
Calculate the distance AC.
.............................................. km

(3)

(b)
Calculate the bearing of C from A.

Give your answer correct to the nearest degree.
.............................................. °

(4)

(Total 7 marks)


___________________________________________________________________________
16. 
Draw the locus of all points which are equidistant from the lines AB and AC.

[image: image27.emf]
(Total 2 marks)
___________________________________________________________________________
17. 
Some girls did a sponsored swim to raise money for charity.
The table shows information about the amounts of money (£) the girls raised.

	Least amount of money (£)
	10

	Greatest amount of money (£)
	45

	Median
	25

	Lower quartile
	16

	Upper quartile
	42


(a)
On the grid, draw a box plot for the information in the table.
[image: image28.emf]
(2)

Some boys also did the sponsored swim.

The box plot shows information about the amounts of money (£) the boys raised.

[image: image29.emf]
(b)
Compare the amounts of money the girls raised with the amounts of money the boys raised.
......................................................................................................................................................

......................................................................................................................................................

......................................................................................................................................................

......................................................................................................................................................

(2)

(Total 4 marks)


___________________________________________________________________________
18.
Katie invests £200 in a savings account for 2 years.
The account pays compound interest at an annual rate of


3.3% for the first year


1.5% for the second year

(a)
Work out the total amount of money in Katie’s account at the end of 2 years.
£..............................................

(3)

Katie travels to work by train.

The cost of her weekly train ticket increases by 12.5% to £225.

Katie’s weekly pay increases by 5% to £535.50.
*(b)
Compare the increase in the amount of money Katie has to pay for her weekly train ticket with the increase in her weekly pay.
(3)

(Total 6 marks)


___________________________________________________________________________
19. 
Solve the equation 
5x2 + 8x – 6 = 0

Give each solution correct to 2 decimal places.

........................................................

 (Total 3 marks)

___________________________________________________________________________
20. 

[image: image30.emf]
PQRS is a trapezium.

PQ is parallel to SR.

Angle PSR = 90°.

Angle PRS = 62°.

PQ = 14 cm.

PS = 8 cm.

(a)
Work out the length of PR.


Give your answer correct to 3 significant figures.

............................... cm

(3)

(b)
Work out the length of QR.


Give your answer correct to 3 significant figures.

............................... cm

(4)
(Total 7 marks)

___________________________________________________________________________
21. 
A field is in the shape of a rectangle.

The width of the field is 28 metres, measured to the nearest metre.
(a) 
Work out the upper bound of the width of the field.

......................... metres

(1)
The length of the field is 145 metres, measured to the nearest 5 metres.

(b) 
Work out the upper bound for the perimeter of the field.

......................... metres

(3) 

(Total 4 marks)
___________________________________________________________________________
22. 
(a) 
Solve 
2x2 + 9x – 7 = 0


Give your solutions correct to 3 significant figures.

......................................................................................................

(3)

(b) 
Solve

[image: image31.wmf]2

2

y

 + 
[image: image32.wmf]y

9

 – 7 = 0

Give your solutions correct to 3 significant figures.

......................................................................................................

(2)

(Total 5 marks)

___________________________________________________________________________
*23.
A road is 4530 m long, correct to the nearest 10 metres.

Kirsty drove along the road in 205 seconds, correct to the nearest 5 seconds.

The average speed limit for the road is 80 km/h.

Could Kirsty’s average speed have been greater than 80 km/h?

You must show your working.
 (Total 5 marks)
___________________________________________________________________________
24. 
The diagram shows a solid hemisphere of radius 8 cm.
[image: image33.emf]
Work out the total surface area of the hemisphere.

Give your answer correct to 3 significant figures.

............................. cm2
(Total 3 marks)

___________________________________________________________________________
*25. 
The diagram shows the triangle PQR.

[image: image34.emf]
PQ = x cm

PR = 2x cm

Angle QPR = 30°
The area of triangle PQR = A cm2
Show that x = 
[image: image35.wmf]A

2


(Total 3 marks)
___________________________________________________________________________
27. 
The graph of y = f(x) is shown on the grid.
[image: image36.emf]
The graph G is a translation of the graph of y = f(x).
(a) 
Write down, in terms of f, the equation of graph G.

y = .....................................................

(1)

The graph of y = f(x) has a maximum point at (−4, 3).
(b)
Write down the coordinates of the maximum point of the graph of y = f(−x).
(....................... , .......................)

(2)

 (Total 3 marks)
___________________________________________________________________________
(TOTAL FOR PAPER: 101 MARKS)
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	(a)
	
	18.75
	2
	M1 for 84 or 4.48 or  [image: image38.png]112



  or 18.7 or 18.8 or 19 or 20 or [image: image40.png]



A1 cao



	
	(b)
	
	20
	1
	B1 for 20 or ft from their answer to (a) provided (a) is written to 2 or more significant figures




	2
	(a)


	
	Triangle with vertices (1, 5) (4, 5) (4,7)
	2
	B2    correct reflection

(B1   a translation of the correct answer with the final shape above  y = x or any two correct vertices)



	
	(b)


	
	Translation by 
[image: image41.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

4

2



	2
	B1    Translation

B1    
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	3
	(a)


	
	3 ( 3 ( 5


	2


	M1 for 9 ( 5 or 3 ( 15 or 3, 3, 5 seen or a fully correct factor tree or 3 ( 3 ( 5 × 1

A1 for  3 ( 3 ( 5 or 32 ( 5



	
	(b)
	
	15
	2
	M1 for 30  =  3 ( 2 ( 5  or a fully correct factor tree

A1 cao

Or

M1 for at least 4 correct factors of 30 and  at least 4 correct factors of 45 with in each case at most 1 incorrect factors

A1 cao

SC B1 for 3 or 5


	4
	
	x
(2

(1

0

1

2

3

y
(10

(6

(2

2

6

10


	correct line
	3
	(Table of values)
M1 for at least 2 correct attempts to find points by substituting values of x.

M1 ft for plotting at least 2 of their points (any points plotted from their table must be correct)

A1 for correct line between -2 and 3

 

(No table of values)
M2 for at least 2 correct points (and no incorrect points) plotted OR

line segment of 4x-2 drawn (ignore any additional incorrect segments)

(M1 for at least 3 correct points with no more than 2 incorrect points)

A1 for correct line between -2 and 3

 

(Use of y=mx+c)
M2 for line segment of 4x-2 drawn (ignore any additional incorrect segments)

(M1 for line drawn with gradient of 4 OR line drawn with a y intercept of -2 and a positive gradient)

A1 for correct line between -2 and 3-




	5


	
	25 ÷ 50 = 0.5 h = 30 min

25 ÷ 60 = 
[image: image43.wmf]0.416

 h = 25 min


	5
	3
	M1 for 25 ÷ 50 or 
[image: image44.wmf]60

25

50

´

 or 30 (min) or 0.5(h) or 25 ÷ 60 or 
[image: image45.wmf]60

25

60

´

or 25 (min) or 0.41(6)(h) or 0.42 (h)

M1(dep) ‘0.5’ –‘
[image: image46.wmf]0.416

’or ‘30’ – ‘25’

A1 cao




[image: image47.emf]
	7
	
	[image: image49.png]-l w



( 120  =  90

120 ( 90 = 30 left

30 ÷ 3  
	10
	3
	M1 for [image: image51.png]


120 oe or 90 

or  [image: image53.png]


 ( 120  oe  or 30 

M1(dep)  for ‘30’ ( (2 ( ‘30’ ÷ 3) oe  

or [image: image55.png]


 ( ‘30’ oe

A1 cao




	8
	
	
	Polygon drawn
	2
	B2 for fully correct frequency polygon - points plotted at the midpoint 

(B1 for all points plotted accurately but not joined with straight line segments)

or

all points plotted accurately and joined with last joined to first to make a polygon

or

all points at the correct heights and consistently within or at the ends of the intervals and joined (can include joining last to first to make a polygon)

NB: ignore parts of graph drawn to the left of the 1st point or the right of the last point; ignore any histograms drawn.




[image: image56.emf]
	10
	
	  5 × 2 =  10

15 × 8 = 120

25 × 9 = 225

35 × 7 = 245

45 × 4 = 180


  780

780 ÷ 30 = 26
	26
	4
	M1 for finding fx consistently within intervals including the end points (allow 1 error)

M1 (dep) for use of all correct mid-interval values

M1 (dep on first M1)for   [image: image58.png]


  ÷ [image: image61.png]





A1 cao




	11
	
	
	186.20
	5
	M1 for use of consistent units to find volume, 11 × 4 × 0.06 (=2.64) or 1100× 400 × 6 (=2640000)

M1 (dep on vol calculation) for attempt to find number of bags needed, eg “2.64” ÷ 0.4 (=6.6 (7)

M1 for the cost of gravel before discount eg “6.6” × 38 or “7” × 38

M1 for attempt to find the total cost after discount“266” × 0.7 oe

A1 for 186.2(0)




	12
	
	-2

-1

0

1

2

3

-7

-5

-3

-1

1

3


	Straight line from 

(–2, –7) to (3, 3)


	4
	(Table of values)

C1 for axes scaled and labelled 

M1 for at least 2 correct attempts to find points by substituting values of x
M1 ft for plotting at least 2 of their points (any points plotted from their table must be plotted correctly)

A1 for correct line between x = −2 and x = 3

(No table of values)

C1 for axes scaled and labelled 

M1 for at least 2 correct points with no more than 2 incorrect points

M1 for at least 2 correct points (and no incorrect points) plotted  OR line segment of y = 2x – 3 drawn

A1 for correct line between x = −2 and x = 3

(Use of y = mx+c)

C1 for axes scaled and labelled 

M1 for line drawn with gradient of 2 OR line drawn with a y intercept of –3 

M1 for line drawn with gradient of 2 AND with a y intercept of –3 

A1 for correct line between x = −2 and x = 3




	*13
	
	Distance ÷ speed: 30 ÷ 70 (= 0.42-0.43);  Distance ÷ time:  30 ÷ 26 (=1.15…);  

Speed × time: = 70 × 26 (=1820 mins);

mph to miles/min =70÷ 60 (=1.16-1.17); 

Minutes to hours is 26 ÷ 60 (=0.43…)
	No with correct figure
	3
	M1 for a calculation which uses the Time × Speed = Distance relationship OR a conversion of units eg between hours & minutes or between mph & miles per min

M1 for a calculation involving both of the above

C1 for “no” with a correct calculation, with units, from working: 25.2-25.8 minutes, 30.1-30.8 miles, 69-69.3 mph

NB:  70 ÷ 26 × 30 as a single stage calculation gets 0 marks




	14
	(a)
	tan x = 
[image: image62.wmf]12

8

 = 0.666…

x = tan–1 0.6666… = 
	33.7
	3
	M1 for tan x = 
[image: image63.wmf]12

8

 QUOTE 
 
or tan x = 0.66(6...) or tan x = 0.67

M1 for tan–1
[image: image65.wmf]÷
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or tan–1 0.66(6...) or tan–1 0.67

A1 for answer in range 33.6 to 33.7




	15
	(a)
	
	7.5
	3
	M1 for 4.5² + 6² (=56.25)

M1 for √56.25 or √(4.5² + 6²)

A1 for 7.5



	
	(b)
	
	217
	4
	M1 for use of appropriate trig ratio eg tan CAB = 
[image: image66.wmf]6

5

.

4

 ( = 0.75),

sin CAB = 
[image: image67.wmf]4.5

"7.5"

 ( = 0.6), cos CAB = 
[image: image68.wmf]6

"7.5"

 ( = 0.8)

M1 for inverse trig shown correctly eg CAB = tan−1  
[image: image69.wmf]6

5

.

4

 ( = 0.75),

CAB =  sin−1  
[image: image70.wmf]4.5

"7.5"

 ( = 0.6),  CAB = cos−1 
[image: image71.wmf]6

"7.5"

 ( = 0.8)

A1 for 36.8 to 37   (or  53 to 53.2  if identified as ACB)

B1ft for bearing 180 + “36.8”  if “36.8” is not 40-50  eg  216.8 to 217




[image: image72.emf]
	17


	(a)
	
	Box plot overlay


	2


	M1 for a box drawn with at least 2 correct points from LQ, Med and UQ

A1 for a fully correct box plot



	
	(b)
	
	Comparison of a measure of spread plus a comparison of medians 

(in context)


	2
	B1 for a correct comparison of a measure of spread (using either range or iqr)

B1 for a correct comparison of medians 

For the award of both marks at least one of the comparisons made must be in the context of the question.


	18
	(a)
	
	209.69 or 209.70
	3
	M1 for  200 × 
[image: image73.wmf]100

3

.

3

 oe or 200 × 1.033 or 6.6(0) or 206.6(0)
M1 (dep) for (200 + “6.6”) × 
[image: image74.wmf]100

5

.

1

 oe or 200 × 1.033 × 1.015 oe or 3.099 or  3.09 or 3.10 or an answer between 209.69 and 209.7
A1 for 209.69 or 209.7(0)



	
	(b)
	        Train    Pay      Diff

Old     200     510        310

New  225   535.50   310.50

Diff    25    25.50     50p
	Comparison
	3
	M1 for method to find  cost of tickets before increase eg 
[image: image75.wmf]125

.

1

225

 (=200) oe or  
[image: image76.wmf]225

12.5

112.5

´

 oe or pay before increase, 
[image: image77.wmf]05

.

1

50

.

535

 (=510) oe
A1 for 25 (train) and 25.5(0) (pay) or 310 and 310.5(0)

C1 (dep on M1) ft for statement comparing rises leading to conclusion based on two comparable amounts eg pay increase greater than train increase




	19
	
	
	a = 5, b = 8, c = - 6
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=  0.5564659966
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= –2.156465997


	 0.56, –2.16
	3
	M1 for substitution, 
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 condone one sign error in substitution

M1 for 
[image: image82.wmf]10
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 oe or 
[image: image83.wmf]10

184

8

-

-

  oe

A1 for one answer in the range 0.556 to 0.56 and one answer in the range –2.156 to –2.16 




	20
	(b)
	QR2 = 142 + 9.062 – 2. 14. 9.06 cos62

        = 196 + 82.08 – 253.68cos62

        = 158.98….
	12.6
	4
	B1 for angle QPR = 62o
M1 for QR2 = 142 + ‘9.06’2 – 2× 14×’9.06’× cos62

M1 for correct order of evaluation or 158.9…

A1 (ft PR) for 12.6 – 12.62
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	(a)
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[image: image86.wmf]9137

4
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	0.676, − 5.18


	 3
	M1    
[image: image87.wmf]2
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22
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´

 allow substitution of ±7 for c
M1    
[image: image88.wmf]9137

4
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A1    answers in ranges 

         0.67 - 0.68  and − 5.17 to − 5.18



	
	(b)


	Put 
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y

x

=

and use part (a)

Or
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	1.48, − 0.193
	2
	M1    
[image: image93.wmf]1
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 or 
[image: image94.wmf]1
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A1     (ft) answers in range 

          1.47 - 1.48 and − 0.19 to − 0.194




	*23
	
	
	Yes, average speed could have been as high as 80.622...
	5
	B1 for 4535 or 4534.999... or 202.5

M1 for 4535 (oe) ÷ 202.5

M1 for ×3600 and ÷1000

A1 for 80.622...

C1 (dep on first M1) for correct conclusion from their calculations




	24
	
	3 × π × 82


	603
	3
	M1 for 
[image: image95.wmf]2

1

×4×π×82 oe (=402(.12…))

M1 (dep) for ‘402’ + π×82 or 192π
A1 for 603 – 603.23
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	M1   
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A1     
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C1     for completion with all steps shown




[image: image102.emf]
	Session
MMYY
	Question
	Mean score
	Max score
	Mean percentage
	ALL
	A*
	A
	%A
	B
	C
	%C
	D
	E

	1311
	Q01
	2.15
	3
	85
	2.15
	2.88
	2.73
	91.0
	2.46
	2.05
	68.3
	1.63
	1.11

	1211
	Q02
	1.96
	4
	49
	1.96
	3.45
	3.00
	75.0
	2.47
	1.91
	47.8
	1.32
	0.79

	1106
	Q03
	2.88
	4
	72
	2.88
	3.89
	3.57
	89.3
	3.09
	2.34
	58.5
	1.47
	0.89

	1106
	Q04
	1.81
	3
	60
	1.81
	2.78
	2.47
	82.3
	2.02
	1.26
	42.0
	0.44
	0.14

	1211
	Q05
	1.17
	3
	39
	1.17
	2.82
	2.38
	79.3
	1.73
	1.01
	33.7
	0.50
	0.23

	0911
	Q06
	1.29
	2
	65
	1.29
	1.75
	1.54
	77.0
	1.37
	1.21
	60.5
	1.00
	0.78

	1106
	Q07
	2.15
	3
	72
	2.15
	2.76
	2.55
	85.0
	2.29
	1.87
	62.3
	1.25
	0.66

	1411
	Q08
	0.74
	2
	37
	0.74
	1.72
	1.41
	70.5
	1.08
	0.80
	40.0
	0.57
	0.35

	0911
	Q09
	1.44
	3
	48
	1.44
	2.77
	2.30
	76.7
	1.66
	1.07
	35.7
	0.64
	0.43

	1203
	Q10
	2.15
	4
	54
	2.15
	3.82
	3.26
	81.5
	2.54
	1.79
	44.8
	1.03
	0.55

	1406
	Q11
	2.31
	5
	46
	2.31
	4.46
	3.66
	73.2
	2.76
	1.74
	34.8
	0.84
	0.26

	1411
	Q12
	1.88
	4
	47
	1.88
	3.36
	3.22
	80.5
	3.04
	2.39
	59.8
	1.24
	0.27

	1311
	Q13
	1.06
	3
	85
	1.06
	2.73
	2.19
	73.0
	1.37
	0.68
	22.7
	0.28
	0.09

	1203
	Q14
	1.83
	6
	31
	1.83
	5.61
	4.41
	73.5
	2.33
	0.66
	11.0
	0.11
	0.03

	1406
	Q15
	2.91
	7
	42
	2.91
	5.98
	4.72
	67.4
	3.50
	2.16
	30.9
	0.88
	0.20

	1006
	Q16
	0.99
	2
	50
	0.99
	1.85
	1.42
	71.0
	0.95
	0.58
	29.0
	0.34
	0.21

	1306
	Q17
	2.44
	4
	61
	2.44
	3.16
	2.97
	74.3
	2.76
	2.40
	60.0
	1.78
	0.96

	1406
	Q18
	2.20
	6
	37
	2.20
	5.07
	3.97
	66.2
	2.71
	1.38
	23.0
	0.50
	0.12

	1203
	Q19
	0.46
	3
	15
	0.46
	2.43
	1.29
	43.0
	0.39
	0.06
	2.0
	0.01
	0.00

	1111
	Q20
	1.13
	7
	16
	1.13
	6.03
	3.80
	54.3
	1.42
	0.32
	4.6
	0.08
	0.04

	1006
	Q21
	1.14
	4
	29
	1.14
	3.03
	1.96
	49.0
	0.93
	0.32
	8.0
	0.08
	0.02

	1211
	Q22
	0.47
	5
	9
	0.47
	3.20
	1.81
	36.2
	0.69
	0.14
	2.8
	0.02
	0.00

	1411
	Q23
	0.19
	5
	4
	0.19
	3.30
	1.57
	31.4
	0.38
	0.03
	0.6
	0.00
	0.00

	1111
	Q24
	0.55
	3
	18
	0.55
	2.47
	1.62
	54.0
	0.79
	0.23
	7.7
	0.05
	0.02

	1211
	Q25
	0.14
	3
	5
	0.14
	1.97
	0.61
	20.3
	0.08
	0.01
	0.3
	0.00
	0.00

	1006
	Q27
	0.88
	3
	29
	0.88
	2.22
	1.28
	42.7
	0.68
	0.46
	15.3
	0.29
	0.20

	 
	 
	38.32
	101
	38
	38.32
	85.51
	65.71
	65.06
	45.49
	28.87
	28.58
	16.35
	8.35
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